Rotation From CK #2 to CK #1 (DOY 328-328)
X-Axis (CK #1 = 10324 _10329ra.bc; CK #2 = 10328_11017pf_live.bc)
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CK #2 S/C Body Rates (DOY 328-328)
X-Axis (CK #2 = 10328_11017pf_live.bc)
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All Data Present = 2, Recon Missing = 1, Real-Time Activity (Predict Not Applicable) = 0 (DOY 328-328)

Coverage
T T I T T I T T I T T I T T I T T I T T I T T I T T
1 1 | 1 1 | 1 1 | 1 1 | 1 1 | 1 1 | 1 1 | 1 1 | 1 1
10-328 10-328 10-328 10-328 10-328 10-328 10-328 10-328 10-329
20:00 20:30 21:00 21:30 22:00 22:30 23:00 23:30 00:00

SCET

10324_10329_temp3.doc Tue Sep 27 21:30:34 GMT 2011



